Section : Mental Ability

@.] Read the following information carefully and answer the question given below.
Question 1D : 16794310310

Akash, Barani, Varun and Deepak are sitting around a table and discussing their trades.

(i)  Akash sits opposite to tailor.
(ii)  Barani sits right to the carpenter.
(iii)  The cook is on the left of the plumber.
(iv)  Deepak sits opposite to Varun.
‘What are the trades of Akash and Barani?

Ars X 1. Tailor and Cook
/X 2. Carpenter and Cook

v 2 Plumber and Tailor
X 4. Carpenter and Plumber

@ .2 Youare given two statements I and II. Choose the correct comment about the statements from the opgk_uus below.
Question 10 : 16794310314
Statements:

I. The Government has imported large quantities of Toor Dal as per trade agreement w!hp‘lher
II. The prices of Toor Dal in the domestic market have fallen sharply in the recent months.

Ans x m
Statement II is the cause and Statgmqgtﬁs/its effect.

v
Statement I is the cause and Statement II is its effect.

X3

Both the Statements I & II are effects of some common cause.

X 4
Both the Sta)_.‘,_g_nk_\nts*if& IT are independent causes.

6.3 “Chicken’ is related to “Vegetarian’ in the same way as ‘Liquor” is related to: .
) Question 1D : 16394310308

Ans J,_ wer
X 2. Insane
X 3. Drunkard
X 4 Foolish

@.4 Which of the following diagrams correctly represents the relationship between Lion, Wolves and Animals?

Question 1D : 16394310303

x,@o




X 4

@ .5 Three years ago, the average age of a family of five members was 20 years. A baby having been born. the average age
of the family is the same today. Find the age of the child. Question 1D : 16794310298

ans K 1. 1 year
2 5years
X 3. 2 years
X 4 6 years

Q.6 Select the option that is related to the third term in the same way as the second term is related to the first term.

Question 1D : 16794310302
AXE:GRIND::PEN:

s X 1. STORY
X 2. READ
v . WRITE
X 4+ PAPER

@.7 [Inthe following question, there are two statements Iabelled as Assertion (A) and Reason (R). Choose the correct
alternative about them. Question 1D : 16394310304
Assertion (A):

Copper is used to make electrical wires.

Reason (R):
Copper has very high electrical resistance.

Ans X1 A s false but R is trie
v 2. A is true but R is false

X 2
Both A and R are true and R is not the correct explanation of A

X + BothA.and R are false

a.g > « W 3 H o
Find the missing number in the following series. T ———.

0,7.26063,  ,215,342
A K0 112

X2 121

X3 125

v 124

9.9 IfKesav is the brother of the son of Kumar’s son. then how is Kesav related to Kumar?

XK1 Son

Question 1D : 16394310300

+ 2. Grandson




7\ ?- Brother
X 4. Father

8.1 Choose the similar pair for the following.

Question 1D : 16394310311

Statement:
Should fashionable dresses be banned in our country?

Arguments:
1. Yes. Fashion keeps changing, hence consumption of cloth increases.
II. No. Fashionable clothes are a person’s self-exp and therefore his/her fundamental right.

12
= IR :
13
Ans 15
Kt —sb
18
25
X2 =gl
10
X3 — 3
15"
18
v —7
ar
@.1] Youaregivena and two arg s. Select the arg t that is strong about the statement. = »ua

Buestion 10 : 16794310317

it turmed right 4 left before reaching the college. What direction was the bus facing when it left the bus stop

Ars X 1. Both arguments I and II are strong
« 2. Only argument II is strong
/X 3. Only argument I is strong
. iy fin y
X 4. Neither argument I nor II k&sﬁggg
@ |27 Which one of the words given in the options CANNOT be formed by using the letfers of the word given below. as many
Stest oo Question 1D : 16794310305
PRINCIPAL
ans - X 1. APRIL
X 2. CRAP
v 7. PRINCE
X ¢+ PLAIN
Q.17 Arthi’s wﬂqe(_i is ﬁﬁﬁ:gNurlﬂ"émitmchesher college. After starting from the bus stop in front of Arthi’s house,

in front of Arthi’s house? Question 1D : 1639431030!
ans X 1 "Bast
v 7 West
X< 2. North
X 4 South
Q.14

Question 1D : 16394310307




Ans

Find the missing number in the following.

25 36 81
9 49 16
4 64 1
10 ? 14

v 21
X2 36
X2 18
X4+ 25

¢-1> Find the missing character in the following.

Question 1D : 16794310312

A D
K N R
F 7
w5 off g
X2 L
X: H
X+ G
@.16 How many days will there be from 26" January 2004 to 1% May 2004 (both days included)?

Question 1D : 16794310316

as of 1. 97
X 2 95
X 3 96
X 4 89
Q.17

What will you do if you find an old man who has lost his road orientation?
Choose most a@gropcﬁf&ﬁsponse.

X 1. Avoid the matter totally.
X 2. Help him with some amount.
v &3

Collect the necessary information related to his destination and guide him accurately.

X o4

Just show sympathy and give suggestion to contact the nearest police station.

Question ID : 16794310312

@ .|@ Gopal started from his house. walked 2 kms north. then 3 kms west, then 6 km south. How far away from his house is
he now?

Ans

v . 5kms
X 2. 3.5kms
X 3. 3 kms

Question 1D : 16794310315




AN % 5.5 Kms

@.]9 Youare given two statements and two conclusions. Identify which of the conclusions logically follow(s) from the
Saiemments; Question 1D : 16794310299

Statements:

All boats are poles.
No pole is house.

Conclusions:
I. Some boats are houses.
II. Some houses are poles.
Ans X 1. Only conclusion I follows
X 2. Only conclusion II follows

« 7. Neither conclusion I nor II follows
X + Both conclusions I and II follow

©.20 Ina certain code ENGLAND is written as AOHMBOE. How is FRANCE written in that code?

ars  of I BSBODF

Question 10 : 16394310309

X 2. BSBMDF
X 3. BSBOBF
X 4 GSBODF

Section : General Awareness

¢! In which year did ASEAN come into existence?

Question 1D : 16394310334

s X 1. 1981

X 2. 1954

< 3 1997

v+ 1967
Q.2 According to Article 170 of the Indian Constitution, the total number oﬁﬁe:md mqnh-:s_ﬁﬁhe Legislative Assembly of a

State CANNOT be more than: Question ID : 16794310325

ars X 1. 492

X 2. 485

v 2 500

X 4 482
3 Where 15@@&3\}&13311)@5 National Park located? Question 1D : 16794310328
Ans « P MBengal

X 2. Madhya Pradesh

/X 3. Chhattisgarh

X # Uttarakhand
@4 Ason 1 May 2018, India has chess grandmasters.

Question 1D : 16794310332

Ans J;_ 31
X2 64
X3 27




A 441 ' *

a.5

Ans

has the power to make any law with respect to any matter not enumerated in the Concurrent List or State List.

X 1. The Attorney-General

Question 1D

1 16794310323

X 2. The Prime Minister
X 3. The Legislature of a State
v ¢ The Parliament

8.6

Ans

Volt is the SI unit of:

Question 1D

: 16394310332

X 1. Electric Charge
X 2. Temperature

+ 7 Electromotive Force
/X 4. Pressure

9.7

Ans

The number of international members in the National Committee for Commemoration of the150™ Birth Anniversary of
Mahatma Gandhi in 2019 is:

Question D

. 16794310337

X1
X227
X723
vio9

a.8

Ans

The Chief Minister of Sikkim, Pawan Chamling, created history by becoming the longest-serving Chief Minister in India
surpassing 's record.

Question 1D

: 16394310335

/< 1. Biju Patnaik

X 2. Lalu Yadav

« 2 Jyoti Basu

/X< 4 Ramakrishna Hegde

8.9

Ans

Question 1D

: 16794310319

< . Sambhaji Bhosale

X 2. Balaji Baji Rao

2. Chhatrapati Shivaji Maharaj
X« BajiRaol

.10

Ans

The ﬁgkhammn of the Council of States (Rajya Sabha) was:

Question D

: 16394310324

X 1. Neelam Sanjiva Reddy
X 2. Dr Rajendra Prasad

v 2 Dr S Radhakrishnan
X 4 Indira Gandhi

e.l

Ans

The song ‘Jana Gana Mana' was publicly sung for the first time at:

Question 1D

: 16794310320

/X 1. the Bombay Session of the Congress
X 2. the Lucknow Session of the Congress




/< 3. the Madras Session of the Congress
« ¢+ the Calcutta Session of the Congress

Ans

‘Which is the state animal of Uttarakhand?

Question 1D

: 16394310322

v ' Musk deer
/X 2. Spotted deer

< 2. Chinkara
X + Barasingha

8.3
An

@

‘When was Indira Gandhi Institute of Development Research (IGIDR) inaugurated?

v 1987

Question 1D

: 16394310326

X 2. 1082
X 31991
X 41993

Q.14

An

@

= —

The Union Ministry of Power has launched a Pilot Scheme for Procurement of Aggregate Power of ona
competitive basis for 3 years.

Question 1D

: 16394310336

v . 2500 MW
< 2. 4000 MW
< 3. 1500 GW
X 4. 90000 W

Ans

‘Who among the following lead the ‘1857 Revolt’ a@@ow‘ﬁ

Question 1D

: 16394310318

X 1. Kunwar Singh

X 2. Lakshmibai

« . Begum Hazrat Mahal
X 4 General Bakht Khan

Q.17

Ans

Bihu songs are the folk songs o?i@,{.l;,;ﬁ of the following states?

Question 1D

: 16394310329

X 1. Manipur
v Assam
X 4 L@ram

With wﬁ&eeounh'y does Nagaland share its international border?

Question 1D

1 1639431032]

' ' Myanmar
X 2. Nepal
X . China
X 4 Bhutan

.18

Ans

‘Which country was ranked the first in the Global Optimism Index released as part of the Grant Thornton’s International
Business Report (IBR) in the first quarter of 20187

Question 1D

0 16394310327

X i China




7\ 2. India ' ;
v 3 Austria
/X 4. Japan

@.19 Which of the following dance forms incorporates the most intricate makeup code. costume, face masks, headdress and
beiglypottied et Question 10 : 16794310330

Ars X 1. Sattriya
X 2. Odissi
X 2. Kathak
v ¢ Kathakali

€.20 India finished in the medal tally at the Commonwealth Games 2018.
Question 10 : 1679431033|

Ans X" 7th
L
x3‘. 4th
v &3 3rd

Section : Arithmetic Ability

a.l Conoibiniics (49)%:::;%):-:::gi:::z::)j:(u)% NS, Question 1D : 16794310340
4 o 205

X215

X3 125

X425

8.2 1 12. g™ .
65_[5_%@*1;” Question 10 : 16394310341

The value of (62:2% _;_31_:6!%0&0)"1% 18:

=

Ans 1
X 4z
3
X2 23-
6
v ge
3
 SWPL
3
Q.3 SR (47.53)%495.06x42.47+(42.47)% 1 0.0016x0.25 £6.5 is: .
AL (38.25)2—38.25x276.5+(138.25)z0 162 0.325xo.nos° - Guestion [0 ; [67394310339
Ans 4

XLﬁ




Z
G
= 25

1
Y §
32
1
16

@ .4 The average of eight numbers is 64. The average of first two is 53, the average of next three is 68, 6 number is 4 greater
than 7 number and 5 less than the 8™ number. What is the average of 6™ and 8 numbers?

ans of 1. 69.5
X2 69
X3 715
X4 74

Question 1D : 16394310346

Q.5 Aistwiceas efficient as B and together they can do a work in as much time as C and D together take to do it. If Cand D
) can do the same work in 10 and 15 days respectively, then in how many days can A alone do the work?

G
X210
v:
X+ 8

Question 1D : 1639431035]

‘What will be the simple interest on the same sum at the same rate and same period?

ans XK1 T 3640
v 2 %3600
X3 3500
X 4 T 3560

Q The compound interest on a sum at 15% p.a. at the end of 3 years is T 4167, when the interest is compounded annually. |

Question 10 : 16394310348

Q.7 Ahollow sphere of outer radius 12 cm is cut into two equal hmisphwmgmf%e area of one hemisphere is
1436 ;l!!l'll2 . What is the inner radius of the sphere? (ise m= 272)

Ans

X 5%cm

X2 6cm
v: 5cm

X4 5> cm

Question 10 : 16794310349

a place A and Sukil starts his jouney from a place B, towards each other. If the speeds of
and 25 km/h respectively and time taken by Nakul to reach B, after crossing Sukil on the

way. is 3 mghn how much time (in hours) will Sukil take to reach A after crossing Nakul?

Question 1D : 16394310350

Ans

i i
x 14

3
2. A
X 14
17

3. =
v 125

16
X4 =




@.9 A number consist of two digits. The digit at tens’ place exceeds the digit at units” place by 4 and the sum of digits is
one-seventh of the number. What is the remainder when the number is divided by the sum of the digits of the number?

Ans X" 4

Question 1D : 16394310338

vz2o0
X3 3
Xes

©.]0 Wheneachof 3092, 4103 and 5451 is divided by the greatest number a , the remainder in each case is b. What is the value
of(a+b)?

Ans X 1. 357

Question 1D : 16794310344

v 396
X 3 376
X 4. 337

S

@.[| IncomeofA isequal to 70% income of B and expenditure of A is equal to 60% of B’s expenditure. If A’s expenditure is
equal to 50% of B's income, then the ratio of savings of A to that of B is?

o X157

Question ID : 16794310345

4

X2 5:6
v:6:5
K+ 7:5

©@.12 A shopkeeper labelled the price of an atticle so as to earn a profit of 30% on its cost. He then sold it by offering a
discount of x % on the labelled price. If his actual profit is 17%, then the value of x is:

Question 10 : 16394310347

am XK1 8
X215
o N
v 10

Q.17 Let x be the least multiple of 17, which leaves ammmzmmhmvmﬁedbwenumm 4.6.8, 10,
12 and 14. What is the sum of digits of x 7

Ans ,f_ s g

Question ID : 16794310343

X2 25 | /
 EB y
X419 !

v

@14  Three fractions are writien in ascending order. If the largest fraction is divided by the smallest, the result is > which exceeds
the middle fraction by ©_ If the sum of three fractions is 1, then what is the difference between the largest and smallest
fractions? Y A 4

Question 1D : 16794310342

Ans y
12

v

(Y (S I N
|~

Comprehension :




Study the following pie chart and table and answei the question that
follows.

Percentage wise breakup of Students in different schools in 2008

Ratio of Boys and Girls

School | Percentage of students whose age
is 10 years or less

40

38

45

55

60

70

cliciiellal -l

HA WE mC 2D mE mF

SubQuestion No : 15

“5-‘ If the total number of students in all the six schools Nl 10 - (6794310353
was 15800, then by what percent. the number of

students in school A, of age above 10 years, was
more than the number of students in school E
having age less than or equal to 10 years?

Ans X 1. 20%

3
v 665%

1
X 3 335%
X+ 30%

Comprehension :
Study the followmgyi?e chart and table and answer the question that
follows. \

Percentage wise breakup of Students in different schools in 2008

Ratio of Boys and Girls

School | Percentage of students whose age
is 10 years or less

40

38

45

55

60

70

MO0 |

EA WE uC D BE mF




Supguestion No : 1o

%, If the number of students in B and C together in
2008 was 4500. what will be the difference between

Question 10 : 16394310354

the number of students in D above 10 years and that
in F below or equal to 10 years age?
ans of 1. 390
X2 285
X2 270
X 4 495

Comprehension :

Study the following graph and answer the question that follows.

Prdoduction of Crude Oil by different countries in I
2005 and 2006 (in million barrels)

- s 2005 et 2006 7 l

10

Counfires

Sub@uestion No : I?

°.! The number of countries in which.the.amount of
production of crude oil in 2006 was more than 20%

Question 10 : 16394310356

as compared to the production.in 2003, is:
ans of 13
X25
X3 2
X4 4

Comprehension :




Study the tollowing graph and answer the question that tollows.

Prdoduction of Crude Oil by different countries in
2005 and 2006 (in million barrels)

2005 === 2006

15 14
12 12 12
10
9
30 11 1 10
5
0
A B C D E F
Countires

SubBQuestion No : 18

%' The production of crude oil by countries A and F oMo 6204310357

together in 2006 is x% less than the total production
of crude oil by B, C and D together in 2005, where
x is equal to:

v 20

X2 25

X 30

X4+ 22

Comprehension :
Study the following bar graph an&anmet'the question that follows.

Total Number of dxfj:grﬁt t}pes of Vehicles(in lakhs) exported
by a company in 2015 and 2016

Iag&} =016

0 i i I I .

Tyvpes of Vehicles

Number of Units Exported (in lakhs)
w B I g" B’; 8 5 8 &

SubBuestion No : 19

Q.1
9 Question 1D : 16794310360




1 ne average numoer oI unis oI A, b and U type
vehicles exported in 2015 is x% less than that of A,
B and E type vehicles in 2016. What is the value of
X (nearest to an integer)?

X5

X2 8

Vs 7

K+ 6

Comprehension :

by a company in 2015 and 2016

45
W2015 W2016

35

30
20 4
15
10 5 ‘
5 X
(1]

'Fn)e!o{ ‘ ehicles

Number of Units Exported (in lakhs)
]

Sub@uestion No : 20

Total Number of different types of Vehicles(in lakhs) exported

Study the following bar graph and answer the question that follows.

%2 Total number of units of Cafid E type vehicles
exported in 2016 is what percent more than that of

Question 1D : 16394310359

D type vehicle exported in 2015?
1
v 83-
3
X2 80
v/
3. =
X 667

X 75

Ans

Section : General English

9.1 Select the most appropriate synonym of the given word.

Question 1D : 16394310366

EMULATE




¥ - imitate
X 2. pursue
X 2. forgive
X 4. forget

8.2 Select the sentence structure that is meaningful and grammatically correct.

Ans ( i

The museum displays a variety of costumes and textiles produced in Ladakh.

na

Produced in Ladakh the museum displays a variety of costumes and textiles.

X3

The museum displays produced in Ladakh a variety of costumes and textiles.

X 4

A variety of costumes and textiles the museum displays produced in Ladakh.

Question 1D : 16794310333

— =

6.3 Fill in the blank with the most appropriate option.

There is a lot of sunshine on this island. The is very good.
ars of I climate
X 2. season

X 3. environment
X 4. atmosphere

.4 Select the word which is NOT an antonym of another word by way of adding a prefix.
ans of 1. dissection

X 2. disquiet

X 3. disrespect

X+ dissatisfaction

= ===

Question 10 : 167943103%]

Question 1D : 16394310368

@.5 Select the most appropriate option to fill in the blank. Answer suitably according to the given question.

Will you tell the neighbours you will be away for two weeks?
I them already.

ans X 1. will have told
v 2. have told
X3 tell
X4 will gell

Question 10 : 16794310364

Q.6 Select the most appropriate option to fill in the blanks.

The Supreme Court said that Archaeological Survey of India “will have to be thrown out of picture” if the

‘Taj Mahal has to be saved.

Ans X" the,a
« 2 the, the
X 2. an, the

X 4. no word required, a

Question 1D : 1679431036]

9.7 [

Question 1D : 16794310372




P11 1n € dlank witn e most appropriare opron. i B

She told the P.A. that she had an to see the M.D. at 3:00 p.m.
Ans - X 1. arrangement

X 2. engagement
« 2 appointment
X + agreement

@.8 Select the most appropriate option to fill in the blank.
This flyer doesn’t match the approved design. . you are using sub-standard material.
ans X 1. However

X 2. Otherwise
v 7 Besides
X 4 Nevertheless

Question 10 : 16394310363

€.9 Select the sentence structure that is meaningful and grammatically correct.

Ans x fi.

An integral part of cooking good cookware is and can have far-reaching impact on health.

v

Good cookware is an integral part of cooking and can have far-reaching impact on health.

X 3.

Cookware can have an integral impact on health and is far-reaching part of good cooking.

X 4
Cooking is an integral part of good cookware and can have far-reaching i]:n@ct on health.
_—

Question 1D : 16794310374

@.10 Select the option that gives the most appropriate meaning of the underlined idiom in the given context.

After his retirement, he tried his hand at farming.

Ans X 1. stopped
< 2. worked
v 2 attempted
X 4 loved

Question 1D : 16794310370

8.1l Fill in the blank with.the most appropriate phrase.

She talking whether someone is listening or not.
Ans x I gets on
v 2. keeps on
X 3 looks on
/X< 4. puts on

Question 10 : 16394310369

9.12 Select the sentence structure that is meaningful and grammatically correct.

Ans x ji

The plane belonged to the Cubana Airlines which has taken many of its aging planes out of service that crashed
yesterday.

X 2

The Cubana Airlines which crashed yesterday belonged to the plane that has taken many of its aging planes out of
service.

Question 1D : 16794310375




A?.

Service.
v

service,

The plane belonged to the Cubana Airlines which crashed yesterday that has taken many of its aging planes out of

The plane that crashed yesterday belonged to the Cubana Airlines, which has taken many of its aging planes out of

.13

LOSE

« . misplace
X 2 hide

X 2 find

X 4 search

Ans

Select the most appropriate synonym of the given word.

Question ID : 16794310365

@ .|4 Select the most appropriate option to fill in the blank.

sitting on its bank.

ans XK 1. for
v 2 on
X 3. behind
X 4 above

The pollution in the Yamuna has caused insect and algae infestation the Taj Mahal and other monuments

Question ID : 16794310362

DOUBTFUL

ans X 1. hesitant
v 2. confident
X 3. nervous
X 4 unsure

8. Select the most appropriate antonym of the given word.

Question 1D : 16794310367

Comprehension :




Read the following passage and answer the questions that follow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu.and
Kashmir to provide all-weather connectivity between Srihagar.
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel‘as a first of its kind in such a
geographical area," road transport and highways minister Nitin
Gadkari said.

Defence forces have to fa¢e hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen intrusion and war in the past,” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 minutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir, which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.




8.l
[

Ans

The tunnel will give an economic boost to the Qusstion 1D : 1639431038]

Ladakh region. Which of the following is NOT
related to economy?

N
Local businesses will get linked to national market.
" Employment potential will be generated for
the local labourers for the project activity
X 3.
Region will be able to receive round the year
tourist traffic.

v
Supplies to border posts during winters will be
ensured.

Comprehension :




Kead e Iouowmg passage and answer me quesuons mart Iouow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu.and
Kashmir to provide all-weather connectivity between Srihagar.
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel‘as a first of its kind in such a
geographical area," road transport and highways minister Nitin
Gadkari said.

Defence forces have to fa¢e hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen intrusion and war in the past,” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 minutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir, which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.




Sub8uestion No : I? ' o

0 : " . - et
;' Zojila Pass is a part of road between: Question 1D : 16794310379

Ans 1. Kargil and Leh
& 2. Jammu and Leh
X 3. Drass and Leh
« ¢+ Srinagar and Leh

Comprehension :




Read the following passage and answer the questions that follow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu and
Kashmir to provide all-weather connectivity between Srinagar.
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel'as a first of its kind in such a
geographical area,” road transport and highways minister Nitin
Gadkari said.

Defence forces have to fage hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen mtrusion and war in the past,” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 minutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir., which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.




Supduestion No : 1Y

%' Zojila Pass is one of the most dangerous passes in
the world. Which of the following is NOT a reason

for it?

Ans x J
It is affected by vicious winds and heavy snowfall.

« 2. It is situated at a height of 11,580 m.

< 7. It has no barriers.
< +. It is extremely narrow.

Question 1D : 16794310378

Comprehension :




Read the following passage and answer the questions that follow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu and
Kashmir to provide all-weather connectivity between Srinagar.
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel'as a first of its kind in such a
geographical area,” road transport and highways minister Nitin
Gadkari said.

Defence forces have to fage hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen mtrusion and war in the past,” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 minutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir., which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.




dUPBUEsTIUn NU 1Y

%, The proposed Zojila Pass Tunnel will provide
several advantages:

A. It will reduce travel time from the present 3.5
hours to 15 minutes.

B. The route will remain open throughout the year.
C. It will be a one-way tunnel.

Which of the above advantages are true?

Ans X 1. A, B and C all are true

X 2. A and C are true
X 3. B and C are true
' ¢ A and B are true

Question 1D : 16794310380

Comprehension :




IurTuEILIVIT 1YY

°;2 After reading the passage, one can infer that the

: Question ID : 16794310377
passage 1s:

Ans l |
a news item on the government’s plan to make the
Zojila Pass Tunnel

X 2.
an article on the strategic importance of the Zojila
Pass

X 3
a report on the conditions prevailing at the Zojila
Pass

X +. a general information article on Zojila Pass

Comprehension :

A @& T srg@mr F 9EH @ I geAT F 3ea? A

7Y 39=gmal 9T BIET F FATSSNUERr fSERT FT 96T 9=
saTEg Al 3R AT F 39T W AATSRINUERE & IHET F
Ui TSR J@1 fhar ST Fharl 38 ot T A 1% 9 f @
ufeq #@& grar Sl St X WS, vser, o dE FT 96E g,
7™ F vseR & REE ¥ Ffs gwfag @ g1 st S
mmam#mmgmmmﬁmm
frvmar FF FSEs A Fi9| SorEg Al F IeaEHT ISy
Heardr (1941) 3y 9 &Fr = (1941) &1 397 & g 39w
AW : TH G FOIUR #77 1941 H 3R gEU A6 1944 H
TR FHT| AW IHTAhare T ST A FG@T HT T W7 39=aqH
t o\ 9T AATEAN0T ey & 9N & WU FAS & aRweT #H
=fFa 3R 3ud FERt & 3@ 3 g 9w ;v SiEer safeg
# Far # giRa T WS FT SAeE 39EAE g W
ATOF FE HIAT TafAed FIAT g, IHHr Isere sy Fwrhr
FEHAT €| T A TE 39AE o Afdwar & e av Ak
Tgd Fo W T FASTEGET AEs AT FT

SubBuestion No : |

*! Ffesor e @ gev ey gl %7 [ Question [0 : 16794310383




1 |Ans K I ’m” - e

K:.?;?T
X 3. TSel
v A

Comprehension :

A o a7 Ty o gge IO T AT & e} A=

B 3u=mrEl W BT & AAEeNEEr fFERt FT 96T 935
garag el 3R AT F Iu=aEl W ARIAeANUERE & 96T F#+
quT: TR Al AT S Feaar| 38 sff e # F% 9 i @
ufed @@ gar el S 9¥ wEE, vseR, o JEl FT 9HE g,
I 3 vseR & e ¥ 3w wwfam g &1 Sl S
HATALSATOT oE T @ g g gO off 39 Iq=aArEr F WA
emar F Fs3Es J8 Fia| Sarg Al F IeaEAy 3uEay
Feardr (1941) 3R 9 &7 T (1941) &1 337 F 90g 39=aF
WY : TF SET F TUF AT 1941 F AW gHW ar 1944 H
TRITRIT G3T| AW HTcehale T ST A forEm g3 U @T 37
2 59 97 #Ae0wr o T & 9T & WY §AS & 9iwew H
=afea 3R 38+ A=t & 2@ I 21 oY ;. Us SEer afed
Fr fasar & @iaa saw @ & gfaaes 9w g sue
AOS Fad HUAT iAfAed FIGT g, 3P I5a0 T FTHT
HEART g1 F Aot I8 39w o Afdwar & v Av Ak
Tgd FO @S A FRSERIE AAEs H AR FaT g

SubQuestion No : 2

. Soll<les, Sieft & sTFaTe a’: [ Question 1D : 16794310385

o ST
X 2 sy
X3 @Y : TF g
X & e

Comprehension :




AT & 91T AT F GEH [T T FEAT & Foa} =T

Bar 3T=urEl 9T WIS & AATSeNuEdr FERT FT 9T 9=
somag el 3R 39T F ITeTEl W AARAyuEE & gaT F+
quie: TR J8 AT S Far| 39 off e A % 9 9 7@
gfeq @& gan Sl St X wEs, e, o | F 9HE g,
TafY 3 vEeR & e @ 3 wafaa @ &1 sefr s
HATIRRATOT AT W FeTT B gC off HOA ITArEr A WA
fyHar & FSES FE FI9| sorg Anf F SeaEdad 39=aH
H=ardr (1941) 3t 9 &7 = (1941) &1 337 F 9fE 3v=aE
AW : vH S FOTYH & 1941 F AR g@Ew Avr 1944 H
TR 37| AT HTehaTe T TTAT A TorEm g3 v Hr 39=aH
g 5 o AAAN0T o T & 9T & WY A & queesw A
e 3k 3us fEnt &t &@r v g oOwy - ve SiEer s
& fAsar #F giEa v WA F gfAdeE 39EATH gl FHET
ASF Fad HUAT AT FIGT g, IS ISAT §T FTH
FEAET g1 Fo Femat Ig 39w off dAfdear & v av 3k
Tgd FO [N T FATAGRIET AAes &I AT FaT g

SubQuestion No : 3

0.3
‘AW TF FAGAr F4T %'7 [ Question ID - 16794310386

A X 1. g
X 2. HTcHSRAT
v . 390
X 4 =i

Comprehension :




| e T T @ F 9T IO T Tl & 3eal ST

BEr 3T=urEl 9T WIS F AATSeNuEdr FERT FT 9T 9=
somag el 3R 39T F 3ITeTEl W AAfRAyuEE & gaT F+
quie: TR J8 AT S Fear| 3% off e A % 9w 9 7w
gfeq @& gan Sl St X wEs, vsew, o | F 9HE g,
TafY 3 vEer & e @ 3 wafaa @ &1 sefr s
HATIRATOT AT | FeTad B gC off HOA ITAEr A WA
fyHar & FSES FE FI9| sorEg Anf F SeaEag 39SaH
H=ardr (1941) 3t 9 &7 = (1941) &1 337 F 9f4E 3v=aw
AW : v S FOTYH & 1941 F AR g@Ew Avr 1944 H
TR g3T| AW HTehaTe T TTAT A TorEm g3 v Hm 39
g 59 I FAAN0T o T F 9T F WY A & quesy A
e 3k 3us feEnt &t &@r v g oOwy - ve SiEer s
& fAsar #F giEa v WA F gfadeE 39EATH gl FHET
AOEF Fad HUAT FAfATSeT FIGT g, IS ISAT §T FTH
HEAET g1 Fo Femat I7 39w off dAfdear & v av 3k
TEd FO [N T FAAGRIET AAes &I AT FaT ¢

SubQuestion No : 4

0.4 TaTEeg S Faw #70e geRg oy 82 [ Question 1D : 16794310384

XKL AR
x'x?T
v TSeX
X ¢ WIS

Comprehension :




A ST 97T AT A Geh IO T Tl & 3l qIAv|

fBar 3u=urEl 9T WIS F AATSeNEdr FERT FT 9T 9=
sarEg Sl 3T AT & 3IeIET W AATSENEE & 99T &
qUie: TR A8 fFaT A1 Tar) 39 off A & F1% T i /e
gfeq @& gan Sl St X wEs, vser, o | F 9EE g,
TafY 3 vz & e @ 3w wafaa @ &1 sefr s
HATIRATOT AT W FeITAT B gC o HOA I A WA
frsHar & FSES FE FI9| sorag Anf F SeaEad 39=arH
He=ardr (1941) 3t 9 &7 = (1941) &1 337 F 9fE 3v=aE
AW : v S FOTYH & 1941 F AR gy Avr 1944 H
TR g3AT| AT HTAehaTe T TTAT A TorEm g3 v HT 39
g 59 I AAAN0T o T & 9T & WY A & queesw A
=afga 3R 3us fTEnt & 3@ 3w g1 9wy ;s Siger sated
& fAsar #F giEa v WA F gfAdeE 39EATH gl FHHT
A Fad HUAT FAfATSed FIGT g, IS ISAT §T FTHT
HEAET g1 Fo Femat I7 39w off dAfdear & v av 3k
TEd FO A T FATAGRIET AAes &I AT FaT g

SubQuestion No : 5

°7 T : UF AGAr F AN F FIET %’7 [ Question 1D : 16794310387

XK1 ZF 9T AANAYEYUT ANET FT THT B
Xz Ira'a’rawﬁﬁqmag&m
X 2.
I =gfeq & \ea # @iaa @ #v
gfades T g
v &3
STFT AF TATS &1 Taiated Har g

o6 = 7 ¥ Fia-3r ec Fﬁﬂ %’7 [ Question 1D : 16794310394

Ans X, ﬁ'zm
X 2. femer
X oud
v ¢ TaT

Q.7 [



AT &7 FliF-ar aeg Fewor 2

e XKL fREar
X2 g
X3 TS
Ve el

*f geere FT @Y RS e
ars 1 F + AT
X2 |+ JAsad
X‘:‘-Q:IG[+GF-I'
v g + I

Question 1D : 1679431039

*? ofame F A E
X gdeg

X 2. eI

X 2 g

v EgdeE

Question 1D : 16794310392

*P @y = few e

PR
v §Fg
X g
X 4 ST

Question ID : 16794310402

0.1l ¥ g g AR A q@ @B T 9F B YER & a9 82

Ans

v wgFq =T
X 2 ey g
x

X+ T I

Question 1D : 16794310395

O o A A ¥
K

X2 @R

X 3

v iy

Question 10 : 163943103299




e { s . -

g o s 7

X e
v gEdaras
X regeEs
X & gaTeS

Question 1D

: 16394310396

Q.14

Ans

P dagT o &
v #iz

X 2 qfre
A

X+ g3

Question 1D

: 16794310389

Q.I1s

Ans

Ty N qATETE B
v U
X 2 g
X Rt
X 4 feamRT

Question 1P

: 16394310398

Q.16

Ans

o & TcmF a= T
X 1. drar
X 2. qrerre
K3 fo
v ¢ R

—

Question 1D

: 16394310388

Ans

THA HFAETd W O AT T A WY HA
X Wl

v TETEE ¥

X2 e

X+ 38

Question 1D

0 16394310397

Ans

AT e E
X . HA9STH
X 2. gaATd
v
X ¢ g

Question 1D

: 1639431040]




T e & A g ' i

BUestion v : 10+Y431VIYU

Ans 1. HTIIT
X 2. farem
Vo ud oge § W amr A @
X & Torgehr smem & 7L @
8.20 ..\q.ﬂa‘.. FT ‘:ﬂl‘[ﬂaﬁ'ﬂ' %-» Question 10 : 16794310400

X #E
Vi A
X e
X+ o

Section : Subject Related

.l

Ans

‘Which of the following is FALSE with respect to circuit-switched networks?

x4

Question 10 : 16794310404

Each of the physical links in the circnit-switched network within switched network is divided into n channels

v

In a circuit-switched network, the resources need not be reserved during the setup phase

r & T

A circuit-switched network is made of a set of switches connected by physical links

X 4
In a circuit-switched network, the resources remain dedicated fbﬁﬂ;e entire duration of data transfer
—

9.2

HTML lets us use only _ characters.

Question 1D : 16794310411

ans X 1. EBCDIC
X 2. ANSI
v AsCl
X+ AMIS

8.3

Ans

‘Which of the foﬂmmwcquﬂe&ﬁmfmg interest, in 1960, in finding a way to connect computers so that
researchers could shire their ideas?

p 4

Question 1D : 16794310403

Assoeiation for Computing Machinery(ACM)
v

Advanced Research Projects Agency(ARPA)

X 2. Electronic Industries Association(EIA)
X a4

Federal Communications Commission(FCC)

Q.4

Ans

Which of the following is NOT a propagation mode for propagating light along optical channels?

X . Multimode

Question 1D : 16394310406




« 2. Directory
X 3. Structure
X 4 File

.l

Which of the following is a part of the classic process that keeps track of code execution within the framework?
/< 1. Program
X 2. Process
X 3. Algorithm
« 4 Thread

Question 10 : 16794310415

Q.12

Ans

Which of the following is a multipoint networking topology?

v ' Bus
X 2. Ring
X 3. Star
X 4 Mesh

Question 1D : 16794310409

Ans

Identify the true statement(s):

(i)  Fixed partition memory strategy suffers from external fragmentation,

(ii) Variable partition memory strategy suffers from internal fragmentation.

(iif) In variable partition memory strategy, when the system is initialised, the primary memory is configured as a
single large block.

1. Only (i) and (ii)
X 2. Only (ii)
X 2. Oanly (i)
v ¢ Only (iii)

_— = =

= &

Question 10 : 1679431042]

Q.14

Ans

Which of the following is a standard for specifying any kind of information on the internet?
X . HTML
X 2 CGI
X 3. Cookies
v+ URL

Question 10 : 16794310410

.15

Ans

‘Which of the following occurs betw : 1 two pn%es because the outcome of the computation depends on the relative
times that the two processes eecute their respective critical section?

X Deadloe k

v 2. ‘Race condition
X 3 ‘dgxci:ronisation
X 4 Abstraction

Question 1D : 16794310419

Q.16

Ans

Which of the following is true with respect to deadlock avoidance?

X

The bakery algorithm is used to deal with deadlock avoidance.

P 5

‘When a process is created in a deadlock, it must declare its minimum claim.

X 3.

The avoidance strategy depends on additional information about short-term resource needs.

Question 1D : 16794310420




v | -
‘With the deadlock avoidance approach. the system is always kept in a safe state.

@ . |7 Whichof the following processor schedulers selects a job currently loaded in the memory and allocates a processor toit?

Ans X 1. Enqueuer

X 2. Medium term scheduler
X 3. Context switcher
« ¢ Short-term scheduler

Question 10 : 16794310414

Q.18 Which of the following filters the messages based on contents at the application layer?

Ans o 1 Proxy firewall

Question 10 : 16794310412

X 2. Gateway
X 3. Packet-filter firewall
/X 4. Bridge
@ .19 Consider the following processes with burst time.

Process burst time
0 350
1 125
2 475
3 250
4 75

‘What will be the average turnaround time and the average waiting time according to the Shortest Job Next (SIN)
scheduling algorithm?

Ans X 1. 1044, 120
' 2. 560, 305
X 3. 735,480
X 4 300, 1050

Question 1D : 16794310418

8.20 Which of the following protocols is a reliable stream transport protocol?
4rs of 1. TCP

Question 1D : 16794310408

X 2. IGMP
X 3. ARP
X 4 ICMP

Section : Subject Related

Q.1 Which of%'p;{glﬂgwing is NOT a commeon field found in instruction formats?

Ans X 1. An address field

Question 1D : 1639431043|

« 2. A sign field

X 3. A mode field
/< 4. The opcode field

8.2 Which of the following is a characteristic of a RISC processor?

Ans

Question 1D : 16794310435

X 1. Large variety of addressing modes
X 2. Large number of instructions




/< 3. Variable length instruction formats -
+ « Single-cycle instruction execution

@.3 Which of the following modes of transfer is needed for fast devices such as magnetic disks?
Question 10 : 16394310428

Ans X 1. Cycle stealing

' 2. Burst transfer
X 3. Programmed transfer

X 4 Daisy chaining

Q.4 Select true or FALSE from the below sentences.

Question 1D : 16794310440
() a private member function can only be called by another function that is a member of its class

&) okt dnvoke wscivate Snaeoiits e dapupesi
Ans X 1. (1) false (ii) true

X 2. (i) false (ii) false

X 3. (i) true (ii) true

W 4 (i) true (ii) false

@.5 Which of the following in a microprogrammed control unit is a next address generator?
Question 10 : 16794310434

Ans X 1. Pipeline register
X 2. Micro program controller
/X 3. Control address register
'+ Micro program sequencer

¢-6 What will be the output if the following C-—program?

Question 1D : 1679431044

#include<iostream.h>
using namespace std;
class example
{
public:
int a;
example *operator->( )
{return this:}
}:
int main( )
{
example ob:
ob-=a=10;
cout<<ob.a<<" * <<ob->a;
return 0:
}
A X1 1111
v 1010

X 3. Garbage value

< 4. Run time error




@ .7 Which of the following. associated with a friend class, can directly access private and protected data?

Ans X 1. Derived class
X 2. Base class
v 7. Member functions
X 4 Non-member functions

Question 10 : 16794310442

8.8 Which of the following memory units communicates directly with the CPU?

Ans

X 1. Secondary memory
X 2. Auxiliary memory
/X 2. Tertiary memory
« ¢+ Main memory

Question 1D : 16794310425

-9 A floating point number is said to be normalised if:
Ans J I.

The most significant digit of the mantissa is non-zero

p £ 8

The most significant digit of the mantissa is zero
X3

The least significant digit of the mantissa is zero

X 4
The least significant digit of the mantissa is non-zero

Question 1D : 16394310429

@.]0 A memory module with a printed circuit board on which DRAM chips are mom:[ﬁ,nuhoﬁ;ﬁgs’fs called:
ans X 1. Dual Outline Memory Médule (DOMM)
2. Dual Inline Memory Module (DIMM)

X 3
Floating-Gate Metal Oxié‘v?gqgli-Couductor

X + Binary Inline Memery Module (BIMM)

Question 1D : 16394310427

©.11 Which of the following is NOT a CPU organisation type with respect to instruction formats?

Ars of I Queue organisation
X 2. Stack organisation
X2 S@gie accumulator organisation
X 4. General register organisation

Question 1D : 16794310432

@.]2 Inwhich of the following cache write methods for updating main memory, only cache location is updated during write
operation?

ans X 1. Write-front
X 2. Write-up
X 2. Write-through
v ¢ Write-back

Question 10 : 16394310426




q‘ |3 Which OI i€ IoLlOWIE1s the act of representing essential reamres Wiour incuding me davkground aetauso¥ | - -

explanations?

Ars X 1. Data encapsulation
X 2. Inheritance
/X 3. Dynamic binding
« ¢ Data abstraction

Question 1D : 16794310426

@ .4 Whichof the following features of object-oriented programming plays an important role in allowing objects having
different internal structures to share the same external interfaces?

+ - Polymorphism
/X 2. Message passing
X 3. Objects

X 4 Classes

An

“

Question ID : 16394310437

@. |5 Ifthe value of multiplicand is 10111 and multiplier is 10011, what will be the result produced by Booth’s multiplication
algorithm in decimal?

ans X 1170
X2 711
v o117
X4 171

Question ID : 16394310430

8.16 Which of the following is NOT an instruction pipeline hazard?.

Question 1D : 16794310433

A of 1. Address hazard
< 2. Control hazard
X 3. Structural hazard
X ¢ Data hazard
@.17 Which of the following mechanisms is intend ‘mmmmmnsmws&mmanawedmmsem

entities in the computer only if the protection policy permits such use?
An

]

X 1. Authentication
/< 2. Denial of service
+ 7. Authorisation

X + Masquetading

Question 1D : 16794310423

@.18 Which of the fuﬂqy@fingtm with respect to object-in-object Oriented Programming?

Ans lf_
X 2

Each object is associated with the data of type class with which they are created

;N 2

Objects interact by sending messages to one another

......

X 4. Objects take up space in memory

Question 10 : 16794310438

@.19 Which of the following in a computer system bus provides a path for the transfer of data between the processor and
common memory?

Ans X 1. Address lines
X 2. Timing signals

Question 1D : 16794310424




/< 2. Control lines ' -
+ ¢ Data lines

©.20 Whichof the following is the process of initialising an object from another object using a copy constructor in C-—?

2 Question 1D : 163943104329
Ars X 1. Copy construction

X 2. Copy declaring
X 3. Copy invoking
« ¢ Copy initialisation

Section : Subject Related

€. Which of the following methods follows the same principle as of K-Mapping? -
= B b= Question 10 : 16794310456

Ars XK 1. Analytic functions
v 2. Quine-McCluskey method
< 2. Asymptotic analysis
X + De-Morgan's method

9.2 Which of the following C— file mode parameters is meant for opening a file for reading only?

A . . Question 1D : 16794310445
s of I jos:in

X 2. jos::out
X 3. jos::ate

X 4. jos:app

—_

%% The size of K-Map depends on tﬁaﬂlmr of: Question 1D : 16794310455

Ans X 1. Assumed variables
& 2. Don't care variables
X 2. Output variables

 + Input variables.

@.4 Which of the fol.lom&_e hexadecimal representation of decimal number 16?

ans o 1. 0010"

Question 1D : 16394310454

X 2. 0017
X 2. D0OF
X+ 0011

© .5 Which ofthe following is NOT a section of process layout when a process is loaded into the main memory?

Ans x it Heap

Question 1D : 16794310448

X 2. Stack
X 3. Text
« ¢+ Graph

n &  Which aftha followine cannts the niimbear af 1% after XORine tha racsived data with the transmittad dara® [




guestion IV : 16794310423

Ans X 1. Cyclic redundancy code ' !

X 2. Odd parity
+ 2 Hamming distance
/< +. Even parity

@ .7 Whichof the following data structures holds the currently allocated instances of resources in Banker s algorithm of
TET e ceadlba Question 10 : 16794310452

Ans X 1. Need
X 2. Available
X 2. Max
v ¢ Allocation

=

@.8 Which of the following queues keeps a set of all processes residing in main memory ready and waiting to execute?

A X 1. Task queue

Question 10 : 16794310449

X 2. Job queue
+ 2 Ready queue

X 4. Device queue

_— = =
@.9 Which flip-flop can be obtained by incorporating a pair of 2 input NAND gates to accommodate the clock input to a
NAND latch? Question 1D : 16794310459
Ans X 1T
V2 SR
XD
X+ JK

—

0.10 Whi i by counting sel 2
Which of the given values can be accepted by counting semaphores? st [0 e O]

Ars X 1. Non-negative integers gﬁéé@%&l
X 2. Only 0&1
v 7. Non-negative integerss

X +. Negative jnfipely

@ .| Inwhich of the following counters. all outputs from the counters are NOT available at the same time because of
propagssion delayy Question D : 16794310460

hns. (§Y¥Bﬁnous up-down
v .é%ymhronous
X 3. Synchronous

X 4. Synchronous down

©.12 Which of the following file stream classes of C++ provides support for only input operations?

Question 1D : 16394310444
Ans X 1. fstreambase

X 2. fstream
v 2 ifstream
X 4. ofstream




@.|3 Which of the following is a combinational logic circuit that compares the magnitude of two 1-bit mumbers and provides
the relative result as outpur?

Ans

Question 10 : 16794310462

X 1. Parity generator
« 2. Comparator

X 3. Code converter
X « Multiplexer

@. |4 Whichof the following devices is meant to target a device out of several devices connected with the same system bus of
a processor?

Question 1D : 16794310457

Ars X 1. Multiplexer

' 2. Decoder
X 2. Encoder
X 4. Counter

@.15 Whichof the following C++ statements will declare the pointer to array, if ‘npte” is pointer variable and *number” is
array variable?

Question ID : 16794310447

Ans X 1. *nptr=number;
' 2. nptr=number
X 3. number=nptr
X 4. nptr=pumberf ]

¢-16 Which of the following schedulers is the fastest?

Question 10 : 16394310450

Ans X 1. Job scheduler
v 2. Short-term scheduler
X 3. Long-term scheduler

X 4 Medium-term scheduler

@ .17 Inwhich of the following types of inheritance, the properties oﬁic[ass anf;:;jhherited by more than one class?

Ans X 1. Multiple

Question 10 : 16794310443

X 2. Multilevel
v 2. Hierarchical
X 4 Mult%th

©.18 Which of the following is true in the case of a multiplexer?

Question 1D : 16794310458

Ans 2K I Lsinputs, 2%-outputs
« 2. 2%.inputs, l-outputs
X 3. n-inputs, 2™-outputs
X 4 2%.inputs. n-outputs

.19 Which of the following is the modified code of Excess-3 code?

Question 10 : 1679431046]

Ans X 1. EBCDIC
X 2. Gray




- K3 ASCIH T

v+ BCD

©.20 What will be the output of the following C+— program?

Question 1D : 16794310446

#include<iostream.h>
#include<conio.h>
void main( )
{
int num[ ]={56.75.22.18,90};
int *ptr.i;
ptr=num;
ptr—.
ptr- =1;
cout<<"\nvalue at ptr:"<<*ptr;
}
4 of 1 56
X2 74
X3 75

X4 55

Section : Subject Related

@ .| Whichof the following is referred to as using a computer to comumit real world crimes with respect (0 cyberlaw?

Ans X 1. Computer as a person

Question 1D : 16794310482

X 2. Computer as a system
« 2 Computer as a weapon

X 4 Computer as a target

6.2 Which of the following is FALSE witlfespect to constructors in C—+?

Ans x i

Question 1D : 16394310466

Constructors are used to initia ise variables and to allocate memory
v

A constructor should not have the same name as that of a class

X 2. Construetors may be overloaded
Xa

When an object is created and initialised, at the same time, a copy constructor gets called

@.3 Which of the following is defined as the memory address obtained from the computation dictated by a given
addressing mode?

Question 10 : 16794310477

Ans X 1. Interleaved address
' 2. Effective address
< 3. Dedicated address
X + Random address

Q.4 Which of the following protocols is the main protocol used to access data on the world wide web?

Ars o | HTTP

Question 1D : 16794310479




X2 Ip
X 3. DHCP
X 4+ TCP

@.5 Whichofthe following would be a preferred mode of transfer for ing data betv a ic disk and the
memory?

Ars X 1. Programmed I/O
X 2. Hardware interrupt driven I/O

v 2 DMA
X 4. Software interrupt driven I/'O

Question 10 : 16394310476

6.6 Which of the following logic gates represents the given truth table?
B |x

!-F-OO}

0
1
0
1

k=2 k=1

A of 1. Exclusive NOR
X 2. Exclusive OR
X 2. NOR
X ¢ NAND

6.7 ‘PUSH A’ indicates which of the following instruction format?
ans  of 1. Zero-address instruction

X 2. Two-address instruction

X 3. Three-address instruction.

X 4 One-address instruction

Question 1D : 16794310469

Question 10 : 16794310475

8.8 Which of the following is true with respect to object-oriented programming?
Ans X 1. Data moves freely around the program
X

X 3. It does not model the real world problems

v 23
It employees bottom-up programming approach

Question 10 : 16794310464

.9 Which of the following expressions represents the given k-map?

abled | 00 01 11 10
00 1 1 1
01 1
11

10 1 1 1

4 of I. BD'+B'C'+A'CD'
X 2. AB+CD'+B'C
X 3. B+AC

Question 10 : 163943104%|




A ¢+ CD'+AB'+BC ' B

@ .0 Which of the following C— file modes is used to open an existing file for updating without losing its original contents?

Ans X 1. Write
X 2. Extend
X 2. Read
« ¢ Append

Question 1D : 16394310467

8.1 'Which of the following expressions represents the Exclusive OR gate?
X (xHy) HEY)

v xy)Hx'y)

X2 xty

X 4 x*y

Question ID : 16394310470

©-12 Ethical hackers can also be referred to as:
ans o I White hat hackers

< 2. Red hat hackers

X 3. Grey hat hackers

X «+ Black hat hackers

—

Question 1D

2 16394310481

.13 Which of the following is signed 2’s complement representation of -14 witl 8 bits?
Ans X1 10001110

v 2 11110010

X 2 00001110

X 4 11110001

Question 1D

0 16794310474

014 Which ofthe following can be the declaration of a member finclye if it doflf NOT alter any dafa in the class?
ans of 1. Const member function’

X 2. Static member function

X 2. Friend function:

X 4 Dylmg;jc@enﬁ)er function

Question 1D

0 16394310465

.15 How many Bo@ean‘ﬁreséions can be formed with four Boolean variables?
Ans J £ “5'5%

X2 256

X2 16

X4 4

Question ID

0 16394310463

Q.6 Whichofthe ing microp «control unit isations does NOT need any decoder circuitry to generate
the control signals?

Ans X 1. Diagonal
X 2. Vertical
X 3. Interleaved

Question ID

- 16394310433




4 Horizontal ' N

@.|7 Which of the following methods of request-messaging in HTTP protocol sends a document from the server to the client?

Ans X I. CONNECT

Question 1D

0 16394310478

X 2. POST
v PUT
X 4+ TRACE

8.18 Which of the following is used to create static web pages?

Question 1D

- 16394310480

s X1 Ajax
X 2. ASP
X 3. ISP
v+ HIML

©.19 Which of the following is known as a derived class with only one base class?

Ars o 1. Single inheritance

Question 1D

: 16394310468

X 2. Multilevel inheritance
/X 7. Hierarchical inheritance
X +. Multiple inheritance

@ .20 Which of the following is a combinational circuit that performs an arithmetic sum of three input b@?

Ans x,_ k—map

Question 10

0 16394310432

X 2. Half-adder
X 2. Flip-flop
4 Full-adder

Section : Subject Related

€.1 Which of the following types of‘gommgrciﬁl DBMS is developed by IBM?

Question 10 : 16394310491

Ans W MySQI_:
X 2. Sybase
X 3. Microsoft
v : DB2

@ .2 Consider the relations Order(Id,OrderDate OrderNumber, CustomerId TotalAmount) and
Customer(Id.FirstName,LastName,City.Country.Phone). What will be the output of the following SQL statement:
Select FirstName, LastName OrderCount= (Select count(O.Id) from Order O where O.Customerld = C.Id)
from Customer C

Question 1D : 16794310496

Ans X 1. List all the orders
X 2. List all customers

v &3

List all customers with their total number of orders
X 4. List all customers with all their orders

6.3 Third normal form (3NF) is dependent on which of the following concepts? [




Ans

« ' Transitive dependency ' !

X 2. Non-trivial functional dependency
X 2. Full functional dependency
X 4 Multi valued attributes

BUESTIONn 1V @ 10+Y%431V4YU

Q.4

Ans

Which of the following with respect to SQL TRUNCATE statement is true?

X

After deleting rows, TRUNCATE does not free the space containing table
X 2. We may roll back truncated data any time
xa

We can use ‘where’ clause with TRUNCATE statement

v

‘We may not be able to roll back in case of TRUNCATE in some databases

Question 1D : 16794310495

9.5

Ans

If a relation x has more than one key, then each of the keys can be called as:
X 1. Foreign key
« 2. Candidate key
X 3. Super key

/X + Primary key

Question 1D : 16794310489

Q.6

‘Which of the following SQL functions is used to evaluate a list of expressions and returns the corresponding resuli if a
value is matched?

X . NVL

X 2. INSTR
v > DECODE
X + TRIM

Question 1D : 16794310497

Q.7
Ans

In client-server computing, which of the following isﬂgﬁ)T handled by a client?
/< 1. Presentation logic

v 7. Access to shared resources
X 3. Processinglogic
X 4 Stoj;pg;f~k§gic

Question 1D : 16394310500

a.8

Ans

CDMA mpkgy operates in which of the following frequency bands?
v 1719 GHz
X 2. 1800 kHz
X 2. 900 kHz
X 4 19000 MHz

Question 10 : 16394310484

8.9
Ans

‘Which of the following refers to the number of participating entity types of a relationship type in DBMS?

X 1. Cardinality
X 2. Status
« 2 Degree

Question 10 : 16794310468




/\ 4 Instance ' -

@ .|0 ‘The structure of data files is stored in the DBMS catalogue separately from the access programmes.’ This property is
referred to as:

A X 1. Program operation dependence

X 2. Program data dependence
X 3. Program operation independence
« + Program data independence

Question 1D : 16394310486

@. | Whichofthe following SQL joint statements returns all the records from the left table and the matched records from the
right table?

Question 1D : 1639431050]

Ans o 1 Left join
X 2. Full join
X 3. Inner join
X + Right join

@ .12 Which of the following clause in SQL ROLLBACK statement rolls back only the specified transaction?

ans  of I FORCE

Question 1D : 16794310494

X 2. WORK
X 3. COMMIT
X 4 SAVEPOINT

_

@.13 Which of the following is the full form of GSM with respect to wireless mobile communications?

Ars X 1. Global System for Modern communication

Question 1D : 16794310483

X 2. Guided System for Modern comgknmi_gnéﬁon
X 2. Guided System for Mobile.communication
¢ Global System for Mobile communication

—_

@.14 Which of the following processes is NOT fagilitated by DBMS with respect to databases?

Question 1D : 16394310485

Ars o 1. Scheduling
X 2. Constructing:
X 2. Sharing

@.15 Which dﬁhfoi!iwmg components exists between client and database server in oracle three-tier architecture?

ans 1. Internet file schema

Question 1D : 16394310493

« 2. Application server

X 7. Oracle web cache
X 4. Master server

@.16 Which of the following is one of the front-end technologies that are most frequently used with MySQL?

X 1. JavaScript

Ans

Question 1D : 16794310492

v 2 HIML 5




/& 7. Adobe AIR ' -

X 4. Action script

8.17 Which of the following with respect to views in SQL is FALSE?
Ars o 1. A view exists in the physical form.

X 2. A view is a single table.

X3

A view can be derived from the base table or other views.
X 4. A view is considered as a virtual table.

Question 1D : 16794310498

@.1g Which of the following describes a group of links with common structure and common semantics in object oriented
modeling?

ans o I Association
X 2. Generalisation
X 3. Multiplicity
X + Inheritance

Question ID : 16394310499

@.19 Which of the following attributes can be called a multivalued attribute in DBMS?

Ans X 1. Birth date

X2 Age
« 2 College degree
X ¢ Gender

—_— ==

=

Question 10 : 16794310487

©.20 Consider the tables PROJECT(Pname Pnumber.Plocation) and WORKS_ON( ESSN.Pno Houts). The quety. to retrieve
the project number, project name and number of employees who work on that project is:

Ans Jf_

Select Pnumber,Pname, COUNT(*) from PROJECT, WORK_ON where Pnumber=Pno GROUPT BY Poumber, Pname;

X 2

Select Pnumber.Pname, from PROJECT, WORK._ON where Pnumber=Pno GROUPT BY Prumber. Pname:

X3

Select Poumber.Pname, COUNT(*) from PROJECT, WORK_ON GROUPT BY Pnumber, Pname;

X 4

Select Pnumber.Pname. COUNT(*) from PROJECT, WORK_ON where Pnumber=Pno;

Question ID : 16794310502

Section : Subject Refgted

@.] Which of the following HTML code snippets is used to specify the path of a GIF image is stored at?
Ans X 1. <href src="example.gif""/>

' 2. <IMG sre="example.gif />

X 3. <IMG="example.gif"/>

X 4 <src ="example.gif />

Question 10 : 16394310509

Q.2 The HTML code “<ABBR title="Tnternet Explorer">IE</ABBR> abbreviation of Internet Explorer” is used to:

Ars o 1. Display abbreviated texts
X 2. Display smaller size text

Question 10 : 16794310510




X 3. Display the superscripted data
/< «. Display the subscripted data

Q.3

Ans

Which of the following is FALSE with respect to tree data structure?

X

Ancestors of a node are all the nodes along the path from the root to that node

p €5

Height of a tree is the maximum level of any node in the tree
X 3. A forest is a set of disjoint trees

v 23

Degree of a tree is the minimum degree of the nodes in a tree

Question 1D

: 16394310515

e.4

Ans

From which of the following language is HTML derived?
X XML
v SGML
/< 3. Java Script
X+ XHTML

Question ID

: 16394310504

_

a.5

Ans

Which of the following conditions represents an empty condition in the circular queue?
< 1. Rear=n-1
X 2. (Rear + 1)mod n = front
v . Front =rear
X 4 (front + 1)mod n = rear

= ———

Question 1D

: 16394310512

a.6

Ans

Which of the following elements is used to.define rows,of a table?
X.'TS
X2 TD
v TR
X+ TH

Question 10

: 16394310508

Q.7

Ans

Which of the following sorting techniques used external sorting?
X I Bubble sort
X 2. Sélection sort
v —the sort

X 4 Insertion sort

Question 1D

: 16394310519

a.8
Ans

Which of the following refers to a set of characters used to identify or name a resource on the internet?
X . HTTP
X 2. RFC
X3 UML
v+ URI

Question 1D

: 16394310507

8.9

In a sorting algorithm, if iwo objects with equal keys appear in the same order in sorted output as they appear in input
array to be sorted. then it is said be:

Question 1D

1 16794310520




/< - Stubborn ' B
X 2. Standard
/X 3. Strong

v ¢ Stable

@.10 Inwhich of the following forms the EM element of emphasising text in HTML displays the emphasised text?

Ans X 1. Subseripted

X 2. Small
X 3. Bold
V 4 Tralic

Question 1D : 16394310511

6.1l The maximum height of a red-black tree with n internal nodes is:
A X 1. log(n+1)

X 2. 2logn

2 2log(n+1)

X 4. 2+logn

Question 1D : 16794310517

_

12 When was HTML 5 released?
ars X 1. 1996

V2 2014

X 2. 2006

X 4 1992

Question 1D : 16794310503

©.13 Which of the following can be defined as the numberof sub-trees of a node?
Ars of 1. Degree

X 2. Forest

X 2 Level

X 4 Terminal nodes

Question 10 : 16794310514

@ .|4 Which of the following metadata elemients nfw:w'psed 10 specify a default URL and target for all the links in an
HTML document?

Ans X 1. LINK
v 2. BASE
»x

Question 1D : 16794310506

©.15 Which of the following is true with respect to the Fibonacci searching algorithm?

Ans Jf_

Fibonacci searching divides given array in equal parts

NE

Fibonacci searching uses divide-and-conquer algorithm

X 3. Fibonacci searching works for sorted arrays

X 4

Question 10 : 1639431052|




The time complexity of Fibonacci searching is O(logn)

Ans

The worst case time complexity of a heap sort is:
X 1. O(logn)
v 2. O(nlogn)
X 2 O(n)
X + 0(n?)

Question 1D : 16794310518

Q.17

‘Which of the following is NOT a type of INPUT element of form in HTML?
X - Checkbox
v 2. Source
& 2. Submit
X 4 Radio

Question 1D : 16794310512

Q.18

In Document Object Model (DOM). all the properties. methods and events that are avai to a web developer for
manipulating and creating web pages are organised into:

< 1. Modules
X 2. Classes
X 2. Tables

« + Objects

‘Question 10 : 16794310522

e.19

Which of the following atiributes of HTML element declares a namespace for tags used in HTML document? ~

Question 10 : 16794310505

Ans

ans X 1 title
X 2. xl:lang
X 3. style
v+ xmins
- -
.20 A binary search tree where the subtrees of every node differ in height by at most 1 s called:

Question 10 : 16794310516

X . Binary search wee
X 2. B+tree
v 7 AVL tree

X ¢ Binarytree

Section : Subject Related

@.1 Which of the following notations can be used to encode string <element in XML document?

Ans

X 1. <gtielement=>it

Question 1D : 16394310537

X 2. &gtelement&lt
X 3. <lt:element>gt
v ¢ &ltelement&gt

8.2 Which ASP development model is successor to classic ASP? [

Question 10 : 16394310540




as - I ASPNET MVC ' -

¢ 2 ASPNET
X 2. ASPNET core
X 4. ASP.Web forms

6.3 Which of the following is NOT a development model supported by ASP?
ans - X 1. ASPNET MVC

X 2. Classic ASP

v . ASPNET APT

X 4 ASPNET core

Question 1D : 16794310539

8.4 Which of the following rules is FALSE with respect to XML structure?
Ans X 1. Attribute values must be quoted
X 2. All XML elements must have a closing tag
X%

All XMI elements must have proper nesting

« ¢+ XML tags are case insensitive

Question 10 : 16794310535

6.5 Which of the following is NOT a way to apply CSS to the HTML document?

Ans X 1. The internal style
X 2. External style
« 2 The out-line style
X + In-line style

Question 1D : 16394310525

@.6 Which of the following properties relating to a font is used display a font as normial or in small-caps in
Cascading Style Sheets?

Ans o I Font-variant
X 2. Font-style
X 2 Font-stretch.
X « Font-weight

Question 1D : 16394310528

8.7 The XML s@@e@ﬁm note(message)= declares i

Ans X"

The “note” element can contain only one occurrence of parsed character data

K

The “note” element can contain zero or more occurrences of parsed character data

X 3

The child element “message™ must occur one or more times inside the “note” element

14.

The child element “message"™ must occur only once inside the “note™ element

Question ID : 16794310538

©@.8 The trailing */>" in the syntax indicates to a program processing XML statement that the element is:

Ans X 1. Unrestricted
&< 2. Matching

Question 1D : 16794310536




v 7 Empty ' )

X 4 Unwanted

6.9 Which of the following is a text decoration property in Cascading Style Sheets?
ans  of 1. overline

X 2. lowercase

X 7. centre

X 4 ink

Question 1D : 16794310529

©.10 Which of the following is NOT a value accepted by background colour property of Cascading Style Sheet?

Ans

+ . Binary equivalent of colour
/X 2. Hexadecimal equivalent of colour

X 7. RGB colour
X 4 Colour name

Question 1D : 16794310527

@.1| Which of the following is NOT an attribute of HTML LINK element used to link CSS with web pages?

Ans X 1. href
X 2 type
X2 rel
v« ref

_ = =

Question 10 : 16794310526

812 Consider the following XML statement:
<Markup>xml statement</markup>
This statement is invalid due to:

Ars o 1. Capitalisation mismatch
X 2. Improper element nesting:
X 3. Improper quoting of attributes
X 4. Unclosed tag

=

Question 10 : 16794310534

@.13 Which of the following is NOT a part ofag_ d‘ﬁg@m object model (DOM) with respect to the type of object?
A XK1 XML

X 2. Core

v 2 Class

Question 1D : 16794310523

@.14 Which of the following area of a box displays the content of a document in cascading style sheets?

Ans X 1. Border
X 2. Margin
X 3. Padding
v ¢ Content

Question ID : 1679431053

¢.12 Which of the following is true with respect to ASP?

Ans

Question 10 : 1679431054




/< 1. ASP enables client side scripting for IIS

« 2. ASP technology is language-independent
X3

Most of the functionality that can be built into ASP pages comes from objects on the client

X 4
Files created with ASP have the extension .aspn

@. 16 Which of the following Cascading Style Sheet text properties defines the minimum and maximum space berween
words? Question 1D : 16394310530

Ars of 1. word-spacing

X 2. word-wrap

X 2. word-break

X 4. white-space

= e
©@.17 Which of the following margin properties of Cascading Style Sheet allows specifying all margin properties in one
declaration? Question 1D : 16794310532

Ars - X 1. Margin-bottom

« 2. Shorthand margin

/&< 3. Margin-left

X+ Margin-right

= -

¢ Which of the following is a valid XML declaration? Guasiion 10 SIERSEIIGEET
Ans X 1. <xml version="1.0" standalone="yes"™

X 2. <2xml version="1.0" standalone="yes >

X 3. <*xml version="1.0" staridalone="yes"*>

v ¢+ <2xml version="1.0" standalone="yes"?>

= =

Q.19

Ans

Which of the following Cascading Style Sheet selectors maiGhes all the elements specified in a list with the given value
1o determine the elements to which the CSS rules are to be applied

Question 10 : 16394310524

X ID

X 2. Class
X 2. Universal
v« Type

e.20

Ans

Which of the following is the default scripting language of ASP?

Question 1D : 16794310542

v . VBScript
X2 C#

X 3. JavaScript
X+ XML

Section : Subject Relcted

a.l

Which of the following is a valid assignment in ASP? [

Question ID : 16794310546

all




| Ans”

R et~ ]

X 1. “strName"="John Smith"
v 2. strName="John Smith”
X 3 70=137
X ¢ #1/5/1985#=#9/15/1985%

Q.2 Whichof the following data-types is supported by VBScript, which is often used to create ASP that can store different
types ara? Question 1D : 16794310545

Ans X 1. Integer

v 2. Variant

X 2. Boolean

X 4. Object

= —— =

Q.3

Ans

‘Which of the following is the expansion of ADO with respect to ASP?

Question 1D : 16394310552

X< 1. Alternative Dynamic Objects
X 2. ActiveX Dynamic Objects
« = ActiveX Data Objects

X 4. Alternative Data Objects

8.4

Ans

‘Which of the following ASP objects is used to send information to the user?

X . Session

Question 10 : 16394310552

X 2. Application

X 3. Request
« + Response
—
¢ The ‘instanceof’ JS operator returns o . Question 10 : 16794310558
Ans , I

8.6

Ans

True if an object is an instance of an object type

X 2. Size of a variable
X3
True if an objezf’is@;néthod of an object type

X 4 Type of'avariable

Which of the following is FALSE with respect to rules of naming variables in Visual Basic?

v

Question 10 : 16794310561

More than 40 characters can be used in a variable name

xa

Reserved words cannot be used as a name of a variable

X 3

The first character of a variable name must be a letter

X 4

Variable names may include letters. numbers and underscore

8.7

Which of the following is NOT a built-in constant in ASP? l

Question 10 : 16394310544




Ans

X . Empty ' )

X 2. NULL
v FULL
/X 4. Nothing

a.8
Ans

Which of the following functions of ASP is used to get the number of seconds since 12:00 AM?

X . TimeValue
X 2. TimeSerial
X 2 Time
v ¢ Timer

Question 10 : 167943(0548

8.9

Ans

‘Which of the following is FALSE with respect to VBScript sub procedures in ASP?

/< 1. Sub procedure can take arguments

/X 2. Sub procedure is a series of statements

v &3

Sub procedure will perform actions and return a value

X a4

Sub procedure is enclosed by Sub and End Sub statements

Question 10 : 16394310549

Ans

JavaScript is used to:
« . Program the behaviour of web pages
/X 2. Specify the layout of web pages
X 2. Perform processing on the sen-'enﬁag
X« Define the content of web pages

Question 1D : 16394310556

e.l

Ans

hichof the following AP srver vaabls i s lfescibeQi browae t et thesoqes?
v | HTTP_USER _AGENT

X 2. REMOTE_ADDR

X 2. SERVER_NAME

X + REMOTE_HOST

Q.12

Ans

Question 1D : 16794310555

‘Which of the following ASP VB functions converts an expression to a variant of subtype single?

X4 CInt
X 2 Cing
X 3. CDbl
v ¢ CSng

Question 1D : 16794310547

An

“

Which of the following is a method of ASP application object?
X 1. Timeout
X 2. Form
X 3. Write

Question 1D : 16794310550




¥4 Lock ST

Q.14

Ans

‘Which of the following JS browser objects represents browser’s window?
+ . Window object
X 2. Location object

X 3. Form
X 4 Document

Question 1D

- 16394310560

.15

Ans

‘Which if the following suffixes is used to indicate currency data type in Visual Basic?
v @
X2 &
Xz
X4 %

Question 1D

: 16394310562

—_

=

8.16

‘Which of the following keywords is used to explicitly declare variables in ASP?
v . DIM
X 2. DIS
X 2. Const
X + Explicit

Question 1D

+ 16794310543

Ans

‘Which of the following ASP component creates an object that displays a different image each time a user enters or
refreshes a page?

X I. Counter
+ 2. AdRotator
X 3. Page Counter

X 4. Content Rotator

a.lg

Ans

Question 10

: 16394310551

Which of the following are actions that can be pg"fotme&n objects in JavaScript?

/< 1. Objects
X 2. Properties

X 2. Function definitions
' +. Methods

Question 1D

: 16394310557

Q.19

Ans

‘What ﬁbe'& result of the following JavaScript:
varax% Vo' +16+4

X 1. volvo20
< 2. 20volvo
X 2. 164volvo
v« Volvol64

Question ID

: 16394310559

¢:20 The ADO connection object is used to:

Ans

X 1. Display data from a recordset
X 2

Question 1D

: 16394310554




" Display only selected set of records and fields to view’

X 2. Hold a set of records from a database table
« 4 Create an open connection to a data source

Section : Subject Related

a.l

Ans

Which of the following is an extension of a Visual Basic project file?
v .wbp
X 2. .ocx
X3 fix
X 4 .bas

Question 10 : 16794310567

a.2

Ans

Which of the following is a time-based multimedia authoring tool?
v ' Flash
X 2. Revolution
/X 3. Hypercard

X 4 Micromedia Authorware

Question D : 1679431057

Q.3

Ans

The type of interaction between a user and a computer i ing and ‘with one person at a time is_
called:

Question 10 : 16394310578

/X 1. Graphical user interface
X 2. Form based interface
v 7 Command line interface
X ¢ Menu driven interface

_— ==

8.4

Ans

‘Which of the following sound effects indicates ambience settings and nesd NOT be synchronised with the picture with
respect to multimedia?

Question 1D : 16394310573

« - Background
/X 2. Foreground
X 3. Foley
X + Design

a.5

Ans

‘Which of the following is FALSE with respect to use of recursion for problems with inductive characterisation?

x i

Question 1D : 16794310577

Recursive:method has more to do following a recursive call
X%

Every recursive method must have a base case

v

Use formal reasoning to determine the time of a recursive call

X 4

Every recursive method makes progress towards its base case

Q.6 Whichof the following standards supports coding of natural and synthetic media objects for multimedia applications?

Ans

X . MPEG-2

Question 1D : 16794310572




¥ 7 MPEG-4 ' -

X 3. MPEG-7
X 4 MPEG-I1

8.7 Which of the following is NOT a type of multimedia authoring tool?
Ans X 1. Time based

v 2. Sound based

X 2. Icon based

X 4 Card based

Question 10 : 16394310570

8.8 Which of the following usages is true with respect to frames in HTML?
Ans - X 1. <FREAMESET COLS="80,+">

X 2. <FREAMESET COLS="80,8">
v :. <FREAMESET COLS="80,*">
X «. <FREAMESET COLS="80,7"">

Question ID : 16394310580

©.9 Which of the following is the technique of gradually working from a high-level to detailed algorithm?
Ans X 1. Reviewing the algorithm

« 7 Stepwise refinement

X 3. Analysis of the algorithm

/X< +. Describing the algorithm

Question 10 : 16794310576

©.10 Which property of the ToolStrip object is used to set the position of the toolbar in Visual Basic?
Ans X 1. DockPadding

X 2. DesignMode

X 3. DefaultSize

v ¢ Dock

Question 10 : 16394310566

@.1l Which of the following HTML tags inside <select>element defines the available options in a list?
s of 1. <option

X 2. <elements>

X3 <list>

< 4. <choice>

Question 10 : 16794310582

©.12 Which of the following is NOT the scope of an explicit type of variable in Visual Basic?
Ans X 1. Procedure level
« 2. Procedure level, dynamic

X 2. Global level
X 4 Form and module level

Question 1D : 16394310563

@.13 Whichof the following options of the dialog box with respect to menu editor in Visual Basic allows assigning a numeric
value that determines the control’s position within a control array?

ans 1. windowsList

Question 1D : 16394310564




A 2. Name ' -
X 3. shortcut
4 Index

@.14 Which of the following is NOT a quality of a good multimedia monitor?

ans X 1. Size
+ 2. Sound pitch
X 3. Refresh rate
X 4. Dot pitch

Question 1D : 16794310568

@.15 Which of the following algorithms is used by GIF images with respect to multimedia?

Ans

Question 1D : 16394310569

X 1. Area image compression

« 2. Lempel-Ziv-Welch

/X 2. Run length encoding compression
X 4 Chain codes

@.|6 Inwhich of the following procedures the code to be executed when user chooses the menu item is placed in Visual
Basic?

Question 1D : 16794310565

ans of I Click event
X 2. Drag event

X 2 Move event
X ¢ Drop event

_—s =

©.17 What is the smallest size allowable for dimensions in movie properties in nqgime&ﬂash'.‘

Question ID : 16394310575

Ars X 1. 550 x 400 pixels
/< 2. 2880 = 2880pixels
o 2 18 x 18 pixels
X 4. 12 x 12pixels

@.1g Which of the following icons mms off and z‘,ﬂbﬂs&luy of the layer, allowing us to see what is behind or under the
layer in Photoshop image editing software?

Question 10 : 16794310574

Ans X1 Delete
r €1 Lm"&e
X . Opacity

@.19 Whichof the following should be placed inside PHP script to store information in the database through HTML form?

An

@

Question 10 : 16394310581

X 1. Webpage

X 2. HTML document
X 2. Browser

+ ¢ SQL commands

@.20 To control the width of a cell. spanning rwo or more columns, which anribute is added to <th>, <td> tags? I

Aun

Question 10 : 16394310579




X 2. Width
« 2 Colspan
/X 4. Rowspan

X 1. Align ST

Section : Subject Related

@.1 Identify from the given list the correct option.
‘Which of the following is a behavioural characteristic of mentally retarded individual?
Ans X 1. Special liking for something
X 2. Increased attention span

X 3. Poor memory

« + Immaturity in different social situations

Question 1D : 16794310602

@.2 Choose the best option to complete the sentence.

In certain cases of special attention or special needs, art form in teaching is also used as a technique for:

ans X 1. Practice
X 2. Consulting

X 3. Teaching
« ¢+ Therapy

=

Question 1D : 16394310593

%2 Choose the right option from the list below,

Syntax, an important aspect in writing,eans:
Ans X 1. Grouping of similar ideas
X 2. Grouping of similar wozds
' 7. Word order and sentence structure
X . Spellingsof words

Question 1D : 16794310587

S-#4 Choose from the options given below.

Performing arts helps in:
Ars 1. Memorising
X 2. All students participating
+ 7. Meaningful learning
/X 4. Decreasing student dropouts

Question 1D : 16794310594
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Ans

Question 10 : 16394310590




- . y

X 2. gTAfSF
X2 gieedicas
v ¢ FgTEh

Choose the correct answer from the options given below.

The relative measure of dispersion of the below is:

Question 1D : 16794310599

Ans X 1. Standard deviation
v 7. Coefficient of variation
X 3. Variance
X 4. Range

Q.7

Choose the correct answer from the options to complete the sentence.

Development of an individual is a collective outcome of:

Question ID : 16794310600

Ans X 1. School and family efforts
X 2. Education and schooling
' 2 Maturity and learning
/< 4. Growth and maturity

a.8

Choose the best option to complete the sentence.

Reflection on reading is said to be complete only when itincludes:

Question 10 : 16394310592

Ars - X 1. Conducting a test
X 2. Questions and answers
X 2. Rewriting the text,
« 4 Analysis and discussion
8.9

Ans

mﬁwm#?mﬁmﬁw T
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Question 10 : 1639431059

Question 10 : 16794310598




Ans

Choose the right option.

Corrective feedback is most useful when it is:
X 1. Frequent and biased

X 2. Judgmental and unambiguous
X 3. Reliable and subjective
« ¢+ Immediate and specific

a.l

Ans

Choose the most appropriate option.

Technology that has affected the sex ratio is:

X - Films and internet
X 2. Social media and chats
/X< 3. Mobile phones and TVs

+ ¢ Amniocentesis and ultrasonography

Question 1D : 16394310589

=]
)

Ans

Choose the right option.

A scientific study of language is called:
/< 1. Lingual study
« 2 Linguistics
X 7. Phonetics
X 4 Grammar

Question 1D : 16794310588

.13

Ans

Choose from the options below,

Individualised learning is a method in which the content, method and material are based on the:

& 1. Learner needs
« 2. Learner ability,

X 3. Teacher competency
X +. Curriénlum requirements

Question 10 : 16794310596

Choose the best option from the given list.

Which 6f the following computer-based instructional material can be used to learn new concepts?
X I Simulations
X 2. Online assessments
v 2. Tutorial
/X 4. Review questions

Question 1D : 16794310585

Ans

Choose the right option from the list given below.

“Right of children to free and compulsory education to the children of 6-14 years age group including children with
special needs.” This is a provision mentioned in:

v |- RTE Act
X 2. Fdueation for all Tnitiative

Question 1D : 16794310601




X 3. Inclusive education policy
X 4 SSA

e.lé

Ans

Choose the right option.

A “byte” in a computer terminology consists of:
v - 8 bits

X 2. 32 bits

X 3 4 bits

X 4 16 bits

Question 10 : 16394310595

Choose the right answer.

Subject-centred curriculum consisting of skills (three R’s) is the emphasis of:

Question ID : 16794310597

Ans X 1. Realism
/X 2. Progressivism
v 7. Essentialism
< 4 Existentialism
.18

Choose the most appropriate answer from the options given.

The concept of “quality™ is:

Question 1D : 16794310583

Ars X 1. As per norms of the society
X 2. As per the gender
X 3. Universally constant
v+ As perceived by an individual,
9.19 Choose the correct option to complete the@fitences

Ans

“Dialogic teaching and learning™ that harnesses ¢ognition in students emphasises:
X 1. Clear explanation by the teacher
v

Interaction between students and the teacher
X 3 Inwﬁ?m parents in the teaching process
X, ﬁ?ﬁig lot of audio-visual aids

Question 10 : 16794310586

8.20

Ans

Choose from the options below.

In India. the exponential change in technology and lifestyle has lead to:
X |- Westernisation
X 2. Modernisation
X 3. Time lag
« + Cultural lag

Question ID : 16794310584




